E£10EEHNFNLEIARAY LY —YL— BF FFITAYT—S—2 FHS1E2A90 (£)
(XEIERID T | X i &7 2R 65
[ RamE 4XME 6.0km ® 1 X % 2 X % 3 X T 4 K
1. 5km 1. 5km 1. 5km 1. 5km
SEGE 0:21:45 X REE8R 00:05:09 XREE8R 00:05:19 XREE8R 00:05:20 XREE8R 00:05:12
EIEKE E3EAR %1 EKXR £1EKR EoEKSR
Yysct—L A S (L6 ) 2R #EF (IEHN6E) BT BA UIEHN6F) WE ME (IBN6 )

B F—s& fleasqd = F 4 E LEmsry =3 l*‘hifﬁ LEmsy =34 l*‘hifﬁ LEmsy =34 l*‘hifﬁ R[5 A L
|vys—ZB 4| 0:22:50fzm =k 6| o006 10)x& @ .| 3 1| o:0533fw®m g | 2| 1| 0:05:32=4m s+ o] 1] 2] 0:05:35
2lyscA—L 2| 0:22:58lE it 2| 0:05:20) ke it of 2] 6| 00617}k & 1| 3| 4] 0:06:11fkmE w%E  «| 2lm 1] 0:05:10
3|FILH v 5| 0:23:020kF A 1) o05:15fkst #42  of 1| 2] o05:45fin EE | o] 1| 5| o.06:14fkm @ o] 3] 3| 0:05:48
ANINS o+ —R 8| 0:24:16)m:E iEE 4 0:05:58|1E% Z&H o 4 4 0:05:59|=MH % o 4 6| 0:06:31|EM F%E o 4 4] 0:05:48
lEas BT | 10| 0:26:2mE 245 5| o:06:01f% s s| 8] 9| o:06:54fkm = ol 6| 2 0:06:03%O sEs  «| 5] 6| 0:06:24
6| EH/NERBEFA 9 0:25:23'1553 e 9] 0:06:3848#H FEEA +2| 7 5| 0:06: 13|40 IEAER | +2] 5 3| 0:06:06PRE =3 -1 6 7l 0:06:26
Ixer—1x | 3| o:25:48lmit mi 71| 0:06:33eitn 85— | 5[ 3| o:o5:550mm #st of 7| 7] o.06:36fwimm kym o 7] o] 0:06:42
8lmUTy A TRY— i 7| 0:27:26f% 8 wah 8| 006:370xR3 F# 1| of 8 o060k tem | 8 8 0:06:56fZ #E o] 8 10] 0:07:03
IzLwy P 1] 0:27:58lE R ER 10| 0:06:40)mAk &= | 1] 11| 0:07:54fvixm EpE#s | o 11| 9| 0:07:27fkm | 9o 5| 0:05:57
10w emsErc | 1] 0:28:17|mt HoEE | 1] 0:06:44fmk sz | 10f 10| o0:07:08fkm mE o 10| 10| o0:07:57rk  m o] 1ol 8] 0:06:28
BTl = P i 6] 0:28:32J%kH EZN 3] 0:05:55QFa)Il it -3 6 7] 0:06:36M@A B -3 9 11] 0:08: 19k HW -2 11 11 0:07:42

7y S EEST 12| 0:30:38)i:2 mA 0:08:220nM 1#AHE 0:06:46}n0 & 0:07:350)11iF  EH 0:07:55

=y v —XC |13 Ix2 =5 0:06:39k#K z&£= 0:08:54fmmas ik 0:07:11

REIE  AE HAH (G xE B BN BHE B (FBR) X EE OB

E£10EEHNFNLEIARAY LY —Y L— &F FFITAYT—K—2 FHI1E2A9H (£)

_ _ (RPSIEED (%5 (ERELHRE
BEapiE 4XMB 6.0km £ 1K £ 2 K £ 3 K £ 4 K
1. 5km 1. 5km 1. 5km 1. 5km
KEGE 0:23:49 XREE8R 00:05:40 XREEER 00:05:43 XREEER 00:05:51 XREEER 00:05:33
EIEAS E7EKRE EIEAS HIEAS EIEAS
SREHIL T A BA % (RRHH/NE) HABEE (SREHH 6 F) FEEME (K6 4F) BA % (RRHH/N6E)

Wt F—ss Plleassyd mEa |glmmscd mea |8 Mems ] mEa TR Hemscd mEa [FE HEms s
smsnenara | 6] 0:23:55]=m mx 2| 0055704t fnE  of 2f 2| o06:2tfmAk kwe o] 3] 3] o:o6:tifmAt fezm o] tlm 1] 0:05:26
2| LI A —)L X K 1] 0:23:59|=m #is% 1| o:05:56fkst @z o] 1| 1| o:o6:11)mm iz o] 1] 2| o:06:02)¢ e ] 2] 2| 0:05:50
shimmrzyron—: 5 0:24:08|mch @3 4| 0:06:220F kMW« 3 4| o0:06:41fki® =y | 2m 1| o:05:1efpemE 0B o] 3] 3] 0:06:09
4y yy—2X : 3| 0:26:320m ¥ 6] 0:06:55pmE sk +o| 4 3| o:06:36fmA E o 4 4 o:o6:34fmA mm o] 4 4] 0:06:27
S|FIUNFT—X 4] 0:28:23 kM = 5| 0:06:36)AAR K= o] 5 5| 0:07:200K#+ FMEE o] 5 5| 0:07:11}|ER ®BE o b5 7{ 0:07:16
olmtykars | 1| 0:29:00mE s 7| oo7:24fm) @z o 7| 6| o07:30fmN #mzE o 7| 6| o:07:25f@Ek =k | 6] 5| 0:06:43
#FER2— 2| 0:29:06)ikmE 28 3| 0:05:500%kH F 3] 6 70 0:08:09fdb& £z o 6 7] 0:07:55)FX C#o ) 7 6] 0:07:03

-7y | S B/NES 8| 0:28:16)%x =& 0:06:40f1% 15t 0:07: 10JKAMR 5% 0:07:15f/EA %5 0:07:11

17y [FWNEZFE-T Y 9 BiiE ERE 0:07: 220K AR HE 0:08:02

XK RE HE (L#EDN) B BE (LEN) XE B0 OB AT fER (B



